+

= B OB K E B T E X

S=

1

2300

BBk + v b (H=8. 0m) L=199m

| | | | | —|
ol = | ) 2‘ = ol
! | | | | | | 1
i g . B gi 3 5 |
| | | [ [ I
,,,,,,,,,, _ | _ _ _ _ e N 4 _ _ _ _ _ _ _ _
e t o o 5 | B | i ) I
} g _%—i — — e F—— — — F— ——o — —— ¢ [ —— & 4 5 I ——H5 — S _—6 — _—— & 1—— o —— ——»% | -1
:,H g | T T T T
® P E"*_E lf ‘ ‘ | | I i\‘]‘
Bk [ ‘ \
/e ‘ ‘ ! ! |
. 3
‘ ~ ‘l ‘ ‘ ‘ REEHE K (B T{H) ‘ T ‘
“ \ il \ \ \ I |
‘ o\ \ \ ‘ ‘
x : | | |
| - RS | | [ ! ‘
L 22 ‘ \ * ‘
) 224\ 2% 2-858I5% (1300 x h1100)\=2, 096 ‘ ‘ :
vaﬁo ok (i N G \ ‘ ‘ ‘ |
: LA
@ %% 2 X s | | l
o P | | w
- ‘ = IR XKD ‘ i <
2 4 N | | ‘ ‘ | ‘ 8 5
g % g
S | | ‘ HR g
S| =
— L% (MG TH) g x
9 | <)\(4 3
| Q Qg | | | gl g
| & | | I uF
R ‘ | =
HT GIRTH) | \ \ \ -
\ \ ‘ ‘ ‘ ‘
. ‘ X ‘ ‘ | | .
! s | | ! ‘ T
2 * ‘ .
‘ 7&% * ‘ ‘
| \ EANC | | | |
2 ‘ ‘ | | s
P ‘ ‘ ‘ ‘
KR
2, ‘ ‘ | =3, 762
2SN (EEAERE]
NZ ** l ‘ ‘ 400) L=29 —
= al (300 X h400) L=29.
& 3@,@_}?( 2 11j—L11%[gm,,3@31a\1;$1 T
S & (W3, |
‘ > Tk (5 5
; 0 B 23060, 1 =
oy U 01885200, 200, Vg [‘\2\? SBE
RO VNS /0%, T - g2
: 3 NS
| @?@* 607 ‘ 9 200 \’ | N
%) /0% 88) 80052200, \ \ ol
I 20), 777
0) //////////ﬁ L_ _
| %W/é/ e
* —
s = = == (1300 x h400) L=28.0p0 =
0 1931\ e300 w hbod) =3k B R R L ‘
| 7 ‘
.

MEIER L=188.4m

EH AR URAEGE L=16.Tn, BERAERE L=171.n

_ CEBST-RURMBLEE]

O no. 150
i—
\
fl—
!
-
! e
l‘\‘_ =
\
\‘\\—
\
O no. 149 -
y—
\
l
o || —
\
l
I
QO kas-2 i
|
| —
jl—
\
O no. 147

¥

Qno. 146

(R

¢ B DERRAIE (FRERELY)
O: JL—FrJOmHET-14
MERGETL—F LI, T2EF D

=== LA HE
\!_ I%% R1FL &% (N§- #FHK) BIA- 5 $KBRIF (3)
d !! BRRE HE UM - RFBE)
!_ THREMR FIRTTARET/NG (3 3 53&1)
= RIE# REHOKHEFER
‘“ #ER 1:300 ‘ HEES T/ 5
-‘ 2HE
FREL | ERAMHESRRE RLBMHH CTRFE)




B & 3 & FE R s

16, 728
1 2+24+4=30#%
28

J L—F 5% (W300 x L1000)

(55 St U %)
7x2000=14000

15481% (W300 x h300) L:
3% 1) — ~EW300 % L500)

T TP [T i

506409 1711

okt (BZ T %)

2-85-{817% W300x h1100) L=2,096
[BEaAERAE]

1324%

L

12,715
: 3+126+3;

=70000

35 % 2000:

Ea—LEGBERTE)

&5 5= U AIE)

i# (W300 x h300) L:
a9 1) — k3 (W300 x L500)

J L—F 5% (W300 x L1000)

Vi

i T (BRI )

E==s EssssaEEssEaREsmmn i Eam|
1548l

2-25{81i% (W300 x h500) L=3, 762
[BaDEAE]
a4 1)— hEW300 xL500) : 24k

=29, 000
-1 54! 3§(W300xh409) L
s (EE’EJEE.M;%L%

P — (W300 % :
;L//Z;-/"}i (W300x L1000) : 3%

1415

J

1588

1(250] [150
: 3+8+3

=4000

(W300 x h300) L:
(%5 572 U RE)

a9 1) — hE (W300 x L500)

1338
1 %{R‘Lﬁ

p====—nc====Ec= . (AL61]

* : BHGERAE FERE)
* 14 x 2000=28000

N N o«
0 :jx?an 12200024000 O: JL—F YT OMHET-14
4

9,
900 i MBRBETL—FLIIE, 12T 5
0
E-! J]iﬁ(w300><h400 121l W300 % h400) L=5,
| B e AwwA) A P

236
s E ANy
,)_,_§(w300xL500) 2218 7I/__§~/7‘§(W300XL1000) D18 é%ﬂuin'i-ﬁ

it (1300 x L1000) : 388
IEL | RIEL & (M- 4FHK) FE-& BKBIE (3)

FL—FUIE

; =31,594
2.2 {1 (1300 x h500) L 31,
1258 CEEEED
av4y— W00 x1500) : 23%%
'fv——?‘)'f%(WSOOXUOOO) 1 31K

BRiRA M - BFHX)

THRER FIRITTAEET/ NS (36 3 53E1)

RESM R

‘EE%%‘ 2./ 5

EERMABEERER RLBMHN FIRTE)




D.L=2.000

D.L=2.000

15803% (W300 x h300) L=72,715
(%5 57X U EE]
3% 1) — b3 (W300xL500) : 3+126+3=1324k

15481;% (W300 x h300) L=6, 588

&5 S U R

]

2-15481i% (W300 x h400) L=33, 236
(B o aEAE]
a2 ) — 3 (W300xL500) : 22#%

JL—F % W300 xL1000) : 74
72715

EPYE

2 (W300 x L500) :
6588

B+8+3=14#%
4351

J L—F 252 W300 xL1000) : 44K
28885

V 4.695

e

JIT

ITL]

I

T

£k #4:300 % 300

T LujJ Juum\u[:L LT

]

T ijumm[:pu IIT LLj_ui

[

1

LLL[:LH

IIT

LM\UjJJ&

ILLL Iy ALL[:LUJLU IIT LLj

JJAI

T

il

L1

MILLL

[:LI_I IITTC LjJ _uum\tL T

35 x 2000=70000

11 g 9

LI 1

NN I

(A& (B
(4
250 2x2000 1338 2000

14 x2000=28000

D.L=2.000

72715

" =4000  [1195
6588 15$2000

28000

2-25{8;% (W300 x h500) L=31, 594
[B@aERAE]
a9 ) — hEW300xL500) : 234

2-35{8/i% (W300 x h600) L=23, 197
[BEaEAE]
oY) — k3 (W300 xL500) : 174

2-45{8);% (W300 x h700) L=20, 238
(B B2 EAE]
a2y )— rEW300xL500) : 114

2-55{817% (W300 x h800) L=18, 000
(BB DRAIE]
3> 1J— b3 W300xL500) : 144k

2-65-{87% (W300 x h900) L=16, 809
[B e DERAE]
a2 ) — 2 (W300x1500) : 104

2-T5{8)7% (W300 x h1000) L=16, 448
[BEaEAE]
a2y ) — hEW300xL500) : 124

2-85{81:% (W300 x h1100) L=2, 096

[CESAEEED)

JL—F 7% W300xL1000) : 3%k
26623

JL—F 5% W300xL1000) : 24k
11991

9204

JL—F 252 W300xL1000) : 24
8551 8229

FL—F 5% W300xL1000) : 23
22907

JL—F 72 W300xL1000) : 24k

JL—F 52 W300xL1000) : 14K

vV 4.359

T

12 x2000=24000

HE0)

TILTLCLCL Ty

ol o

At
<

99Q
83)

2x2000 |2001 (2001 4x2000=8000 2007

3x2000=6000 1

97

1002

1000)
3

% 2000=6000

(A0
(&) (H#
1549 3 x2000=6000

Iaprscss

kBB

9 x2000=18000

7x2000=14000

(H
)
38|

7x2000=14000

\_V 3.475

25000

=4000
4000

(2000)(2000)

(2000)

3002

g

195

19

i

7002

2665

6000

18000

14000

106
(&

14000

2448 2096

[R.51]
* . BHRAERAE (BERER)

O: JL—FrJOmHET-14
MERGETL—F LI, T26F 3

B

RIFL #% (NB - #FHER)

Bl HARIE (3)

M - BFHE)

FIFTARRT/NE (55 3 5El)

fRIERMAR

‘EE%%‘ 3/ 5

EERMABEERER RLBMHN FIRTE)




Bl ERHAK - &

B $15%

1908 (1300 xh300) L=16, 728 2-1 41 (1300 X h400) L=15, 275
= ’ = ’ 224 Y — K3 (1300 x L500) : 234K 32 70— FEWNS00xL500) : 2
16728 2096 5L —5 S5 E (00X 1000) - 35
32032 7

5946 ) 6596

V 4.583

vV 4.631
V 4.608 Vv 4.576

V 4.633
* *
B R i T TTT T — METETHE
B - o N e B
A g 7% X AN

S N
wED

~
v 4.238 £ T T

VvV 4.305
Vv 4.235

v 4.211

(00p (e
008 | 2x2000 1593

109
2689 {00

2 %2000 00!
D.L=2.000
29000

) 00 ()
l 14 % 2000=28000
24000 (1000)  =4000
10006

7x2000=14000

D.L=2.000

16728

&R s=1:20

1SHE REHER Sk FmEX
U&B 572 U R EIK]) 300 x 300 x h640

520

55 300 55 >4 1) — k3 (W300 x L500)
FL—F 5% W300xL1000) [T-2]

KORMEROAT-14
- S

BEELZL
HBRE

S
5]

JL—F250-14
300 x 300

Sok#t X

[FL41]

FL—F 25 (1-14) * . BHAERIE (FBER)

300300 O HL—F Y OREET-14
XPRLEETL—FUIEF, T2£F5

o
=)

ERavoU—+
LYERETRE

oo y—+
HBERE F
RIFL &% (OM§- #FHE) FE-& HKBIE (3)

1w VDB - BFHX)

FIRITHERT/NEF (56 3 533E1)

RIBRME - #ER

‘ HEHES

BRERER RIEMFEH FETE)

abi




2-15RiE RER

(W300 x h400)

500

100

a9 ) — 3 W300x L500)

2-250iE RER

(W300 x h500)

500

>y ) — b3 (W300 x L500)

*ﬁ 5% $=1:20

251 FREMER

[BaaifA;iE]

2-35HiE RER

(W300 x h600)

500

a2y ) — 3 (W300 x L500)

2-4S R RER

(W300 x h700)

500

300

2-55E RER

2% 1) — b3 (W300 x L500)

(W300 x h800)

500

300

3% )— b3 (W300 x L500)

2-65iE RER

(W300 x h900)

500

a9 ) — +E W300 x L500)

JL—F %% W300xL1000) [T-2]
KORBERNHT-14

XTL—F 5 EMW300xL1000) [T-2]

REBEROAT-14

KT L—F 2 F%&W300xL1000) [T-2]

T L—F 5% W300xL1000) [T-2]

XTL—F 7% W300xL1000) [T-2]

95

400 (385)

X () WIEL=10000 % iE

2-T5HE 2R
(W300 x h1000)

500

AvnR—=Frarvsy—+
0 5= 18N/mm’
HE@Ea s )—+
0 4 =18N/mm

() RIEL=10000D # fiEl

2-154iE BEY

(W300 x h400)

AvR—ravsy—Fk
T 4= 18N/mm

HEEaroy—+
0 ,=18N/mm

RC-30 t=100

2-1S5HE BER

(W300 x h1000)

500

300

AvnN—ravyy—+t
0 = 18N/mm

HE@Egaro)—+
T 4, =18N/mm

RC-30 t=100

95

600 (585)

X () RIFL=10000 % fiE

2-25fiE BER

X5 L—F 5% M300xL1000) (T-2] ‘ ‘

AynN—taryy—t
N

0 ;= 18N/mm’
HEERE

AvnR—=Fravyy—+

X () AWIFL=10000 ¥ 1E

(W300 x h500)

2-35 i BEY

Aon—tavyy—+t

0 4= 18N/mm’
HE@EEarHry—+
0, =18N/mm’

AvnR—=Frarvyy—+
0 5= 18N/mm’

T 4= 18N/mm

RC-30 t=100

2-85fliE MER
(W300 x h1100)

500

300

Aon—tavyy—+t
0 = 18N/mm’

HEEaroU—+
T, =18N/mm’

RC-30 t=100

HEBEa o Y—+

(W300 x h600)

N l
i vt

2-ASfiE BER

0 = 18N/mm’
HE@Eary)—+

(W300 x h700)

500

2-65iE BHED

{yn—kavsy—+
0, = 18N/mm

HE#Egoro)—+
o, =18N/mm

RC-30 t=100

AvnN—tavyy—+t
0 .= 18N/mnr
Koo y—+t
T, =18N/mm’

RC-30 t=100

(W300 x h900)

500

300

LRI ETRIE

RI1FL &% OM§-#FHK) FE-& HKBIE (3)

®E UM - RFEHX)

FIRTFHEET/NE (35 3 53&1)

iR

‘ HEHES

RER RIBRFED FATSE)




